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Outer Shield not stable = Increased T from 27,27 to 27,3

Also increase Inner Shield therefore ? ( = 27,52 to 27,522 ?)

From:
https://iqwiki.igo.uni-hannover.de/ - IQwiki

Permanent link: :
https://iqwiki.iqo.uni-hannover.de/doku.php?id=groups:mg:reslab:labbook:2016-10:labbookentry-2016-10-12 1"

Last update: 2016/10/12 13:23

IQwiki - https://igwiki.igo.uni-hannover.de/


https://iqwiki.iqo.uni-hannover.de/
https://iqwiki.iqo.uni-hannover.de/doku.php?id=groups:mg:reslab:labbook:2016-10:labbookentry-2016-10-12

